| Efficiency vs Dxy |

>1.2
X

efficiency vs d
o o
[e2) [ee] =

o
~

o
[N

10

Ratio

1.2
1.1

1

R EE TEEEEERREEY ¥ T

£ a4 - L - A 4 A0k

)

| Efficiency vs Dz |

0-15-10 -5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mkFit_TT_base_noSel
—e— DQM_mkFit_TT_base_8iter_noSel

—— DQM_mkFit_TT_retrainOIldFiles_v2_8iter2_noSel

efficiency vs dz
=
- )

o
©

o
o))

0.4

.................................................

.................................................

.................................................

....................

.................................................

Ratio

2030
TP dz (cm)




	Contents
	Page 1


